
 50.0 

 30.0  24.4 

 26.6 

 14.3 

 35° 

NOTES:
XXX.1.

REVISIONS

REV DC # APPROVED BY APPROVED ON

- - - -
- - - -
A - nvidojevic 08/11/2017

BILL OF MATERIALS
ITEM # QTY. P/N DESCRIPTION

1 1 20139 FRAME WELDMENT, OUTER WRAP, CSW-ELV
2 2 20153 WHEEL, ROUND, CSW-ELV
3 4 20155 PIN, CLEVIS W/ COTTER PIN, ZINC PLATED
4 2 20154 WHEEL, HEX, CSW-ELV
5 1 20575 INNER WRAP ASSY, CSW-ELV
6 28 7789 #8, INTERNAL TOOTH LOCKWASHER, STEEL NICKEL
7 30 7642 #8-32 X 3/8"LG FULLY THD, PHIL TRUSS HEAD MACHINE SCREW, 18-8 S.S.
8 1 20486 RECEPTACLE ENCLOSURE, CSW-ELV
9 1 5505 #8-32, SERRATED HEX FLANGE NUT, STEEL ZINC
10 1 5713 RECEPTACLE, 15AMP, 5 CONTACT
11 1 2165 BUSHING, HEYCO, #1247, 7/8"
12 1 1254 CORD, 15AMP, 14-3, NEMA 5-15P
13 1 20484 WALL ASSEMBLY, ELEVATOR FRONT, CSW-ELV
14 2 20149 ELEVATOR SLIDE, POPPER CASE, CSW-ELV
15 2 20147 SHAFT, POSITIONING, POPPER CASE, CSW-ELV
16 2 20148 PIN, POSITIONING SHAFT, CSW-ELV
17 2 20611 POPPER CASE ASSEMBLY, CSW-ELV
18 2 20151 DIVIDER, CSW-ELV
19 2 20366-L BRUSH HOLDER, LEFT, CSW-ELV
20 12 7891 #8-32 X 3/16"LG FULLY THD, SLOT PAN HEAD MACHINE SCREW W/NYLOCK 

PATCH, 18-8 S.S.
21 2 20366-R BRUSH HOLDER, RIGHT, CSW-ELV
22 4 20340 CAP, CSW-ELV BRUSH
23 8 7775 #6-32 X 3/16"LG, SLOT BINDER HEAD MACHINE SCREW, STEEL NICKEL
24 4 20502 BRUSH STRIP, CSW-ELV
25 1 20140 FRAME WELDMENT, TOP, CSW-ELV
26 2 20141 GLASS, SIDE, CSW-ELV
27 4 20406 CHANNEL, GLASS, 13.75"
28 2 20407 CHANNEL, GLASS, 12.5"
29 2 20343 CHANNEL, GLASS, 21.75" 
30 1 20476 RETAINER, SIDE GLASS, BOTTOM, LEFT
31 1 20439 RETAINER, SIDE GLASS, BOTTOM, RIGHT
32 2 20144 CLIP, SIDE GLASS, CSW-ELV
33 2 20438 BREATHER TUBE, CSW-ELV
34 2 16929 #10-32 X 1"LG FULLY THD, PHIL TRUSS HEAD MACHINE SCREW, 18-8 S.S.
35 1 15705 CHANNEL, FRONT GLASS BOTTOM, CSW-ELV
36 1 20143 GLASS, FRONT, CSW-ELV
37 1 20142 GLASS, TOP, CSW-ELV
38 2 20161 GLASS TAB
39 1 20550 LED STRIP, 26"LG, W/LEADS & POWER SUPPLY
40 1 20490 CONDUIT, CSW-ELV
41 1 2130 ROUTING CLAMP, PIPE, 3/8"
42 1 20602 COVER, LED TERMINALS, CSW-ELV
43 1 7865 #10-32, NM NYLON INSERT LOCKNUT, STEEL ZINC
44 1 20450 CORNDITIONER ASSY, CSW-ELV-A
45 2 20435 COVER, POPPER CASE, CSW-ELV
46 2 20150 DRAWER, CLEAN OUT, CSW-ELV
47 1 6018 DECAL-'CAUTN:CONS ALL SURFC HO
48 2 6012 DECAL, CAUTION, EMPTY DRAWER DAILY
49 1 2446 DECAL-CAUTION 120V/60HZ
50 1 1517 NAMEPLATE, SERIAL NO, BLANK
51 4 16066 #44, 1/8" RIVET, DOME HEAD, 0.188-0.250 GR, SS/SS
52 1 19489 POPCORN SCOOP, PLASTIC

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBS
REFER INDIVIDUAL SUB-PARTS

MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

1  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



A

5

1

BEFORE INSERTING THE INNER WRAP,
COMPLETE THE WIRING BEHIND THE

INNER WRAP BY THE POWER CORD LOCATION,
AS PER WIRING DIAGRAM AND EXTRACT THE
GROUP OF WIRES THROUGH THIS LOCATION.
LATER THESE WIRES WILL BE USED FOR WIRING
THE LED LIGHT UNDER THE TOP GLASS FRAME.

STEP # 1

7

6

4

3

3
4

2 3

2
3

DETAIL A
SCALE 1 : 1

7

6

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

2  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 2

C

C
12

11

WRAP AROUND AND
ADHERE DECAL TO THE
POWER CORD

49

B

DETAIL B
SCALE 1 : 2

8

6

7

6

7

10 SECTION C-C
SCALE 1 : 5

9

USED TO MOUNT
GROUND CABLE

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

3  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 3

15

16 15

13

14

6

7

7

6

14

18
18

POSITION THIS PART
IN PLACE BEFORE
LOWERING  THE
SHAFT THROUGH

CENTER FRAME AND
OUTER WRAP

AFTER INSERTING INTO
THE SHAFT INSERT THE 

BENT PORTION INTO THE
SLOT ON CENTER FRAME

SLOT WHERE THE
BENT PORTION

OF PIN IS INSERTED

SLOT WHERE THE
BENT PORTION
OF PIN IS INSERTED

17

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

4  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 4 STEP # 5

D

E

19

21

20

DETAIL D
SCALE 1 : 1

22

23

24

24

19

21

DETAIL E
SCALE 1 : 1

24

24

21

20

20

23
22

25
7

7

7

6

6

6

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

5  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 6

30

6

7

6

7

34

32

33

27

29

27

26

HIDDEN BEHIND
SHEET METAL FRAME

28
HIDDEN BEHIND 

THE TUBING

SLIDE THE PLASTIC
CHANNELS ON GLASS

BEFORE INSTALLING THE
GLASS IN PLACE

PUSH RETAINER AGAINST
THE GLASS BEFORE SECURING

THE MOUNTING SCREWS

HIDDEN BEHIND
THE RETAINER

34

32 26

33

7

6

7

6

31

PUSH RETAINER AGAINST
THE GLASS BEFORE SECURING

THE MOUNTING SCREWS

SLIDE THE PLASTIC
CHANNELS ON GLASS

BEFORE INSTALLING THE
GLASS IN PLACE

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

6  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 7 STEP # 8

3635

F

37

DETAIL F
SCALE 1 : 2

38

6

7

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

7  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 9 STEP # 10

G

DETAIL G
SCALE 1 : 1

39 42

43

41

40

47

45

50

51

44

7

7

46

46

48

48

52

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

8  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



BEGINNING SERIAL NO:17072871

FOR WIRING:
REFER TO CURRENT REVISION OF WIRING DIAGRAM: CSWELVA

REVISIONS
REV DC # APPROVED BY APPROVED ON

- - - -
- - - -
A - nvidojevic 08/04/2017

BILL OF MATERIALS
ITEM # QTY. P/N DESCRIPTION

1 1 20442 ENCLOSURE, CSW-ELV, CORNDITIONER
2 1 20601 DECAL, CORNDITIONER, CSW-ELV
3 2 5130 SWITCH, LIGHTED, 230V
4 1 14585-CG GUARD, CONTROL, HOT DOG GRILL
5 1 14585 TEMPERATURE  CONTROLLER, DIGITAL, 120V
6 1 5601 HIGH LIMIT, 200 DEG
7 2 7727 #8-32 X 3/8"LG FULLY THD, SLOT ROUND HEAD MACHINE SCREW, STEEL 

ZINC
8 2 7789 #8, INTERNAL TOOTH LOCKWASHER, STEEL NICKEL
9 1 1727-A HEAT ELEMENT, 1100W, 120V, 13.1 OHMS
10 1 7264 ELEMENT CLAMP, 1-5/8"
11 6 5505 #8-32, SERRATED HEX FLANGE NUT, STEEL ZINC
12 1 2123 BUSHING, HEYCO #2030, 1/4"
13 1 4709 SPACER, 0.21"ID X 0.3"OD X 5/8"LG, STEEL
14 1 7683 #10, SAE FLAT WASHER, 18-8 S.S.
15 1 16086 THERMOCOUPLE, RING TYPE, HOT DOG
16 1 5634 BLOWER, 115/230V, 50/60 Hz, 1/40 HP
17 8 5742 1/4", SAE FLAT WASHER, 18-8 S.S.
18 8 5743 1/4", MEDIUM SPLIT LOCKWASHER, 18-8 S.S.
19 8 10121 1/4-20 X 1/2"LG FULLY THD, HEX HEAD CAP SCREW, 18-8 S.S.
20 1 5712 PLUG, 15AMP, 5 CONTACT
21 2 7642 #8-32 X 3/8"LG FULLY THD, PHIL TRUSS HEAD MACHINE SCREW, 18-8 S.S.
22 2 14646 #8-32, KEPS NUT, STEEL NICKEL
23 1 20463 COVER, CSW-ELV CORNDITIONER

APPROVED DATE

DRAWN DATE APP. WEIGHT
12.51
 LBS

REFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE, IL 60191
Ph:(847)616-6900, (800)228-1885, Fax:(847)616-6970 

www.cretors.com, postmaster@cretors.com
DRAWN BY

A

ndarji

nvidojevic 08/04/2017

SHEET

20450
DRAWING NUMBER

DESCRIPTION

APPROVED BY REVISION

CORNDITIONER ASSY, CSW-ELV-A
1  OF  508/04/2017



STEP # 1 A

DETAIL A
SCALE 1 : 2

21

22

20

ENSURE ORIENTATION
PRIOR TO ASSEMBLY

STEP # 2
16

17

18

19

APPROVED DATE

DRAWN DATE APPROX. 
WEIGHT12.51

 LBS
REFER INDIVIDUAL SUB-PARTS

MATERIAL

176 MITTEL DRIVE, WOOD DALE, IL 60191
Ph:(847)616-6900, (800)228-1885, Fax:(847)616-6970 

www.cretors.com, postmaster@cretors.com
DRAWN BY

A

ndarji

nvidojevic 08/04/2017

SHEET

20450
DRAWING NUMBER

DESCRIPTION

APPROVED BY REVISION

CORNDITIONER ASSY, CSW-ELV-A
2  OF  508/04/2017



STEP # 3

9

10

11
14

15

11

12

INSTALL GROMMET
FROM INSIDE THE HEAT

ELEMENT CHAMBER.
INSERT THE

THERMOCOUPLE THRU
THE GROMMET AND
INSTALL TO THE TEMP.
CONTROLLER AS PER

WIRING DIAGRAM

SLIDE THE SPACER
OVER THE STUD FIRST

SLIDE THE #8 TERMINAL
END THRU THE STUD ON

THE SPACER NEXT

FASTEN
THERMOCOUPLE

USING THIS
SERRATED NUT

INSTALL WITH
ORIENTATION

AS SHOWN

ENSURE HEAT ELEMENT
REST ON THE NOTCH
ON SHEET METAL

APPROVED DATE

DRAWN DATE APPROX. 
WEIGHT12.51

 LBS
REFER INDIVIDUAL SUB-PARTS

MATERIAL

176 MITTEL DRIVE, WOOD DALE, IL 60191
Ph:(847)616-6900, (800)228-1885, Fax:(847)616-6970 

www.cretors.com, postmaster@cretors.com
DRAWN BY

A

ndarji

nvidojevic 08/04/2017

SHEET

20450
DRAWING NUMBER

DESCRIPTION

APPROVED BY REVISION

CORNDITIONER ASSY, CSW-ELV-A
3  OF  508/04/2017



STEP # 4

3

3

2

5

4

APPROVED DATE

DRAWN DATE APPROX. 
WEIGHT12.51

 LBS
REFER INDIVIDUAL SUB-PARTS

MATERIAL

176 MITTEL DRIVE, WOOD DALE, IL 60191
Ph:(847)616-6900, (800)228-1885, Fax:(847)616-6970 

www.cretors.com, postmaster@cretors.com
DRAWN BY

A

ndarji

nvidojevic 08/04/2017

SHEET

20450
DRAWING NUMBER

DESCRIPTION

APPROVED BY REVISION

CORNDITIONER ASSY, CSW-ELV-A
4  OF  508/04/2017



STEP # 5

B

THE BOTTOM COVER
TO GO UNDER THE FLANGE

BEFORE ASSEMBLING THE NUTS

DETAIL B
SCALE 1 : 2

23

11

ENSURE THE HEAT ELEMENT
IS ALIGNED WITH THE NOTCH
ON THE BOTTOM COVER

APPROVED DATE

DRAWN DATE APPROX. 
WEIGHT12.51

 LBS
REFER INDIVIDUAL SUB-PARTS

MATERIAL

176 MITTEL DRIVE, WOOD DALE, IL 60191
Ph:(847)616-6900, (800)228-1885, Fax:(847)616-6970 

www.cretors.com, postmaster@cretors.com
DRAWN BY

A

ndarji

nvidojevic 08/04/2017

SHEET

20450
DRAWING NUMBER

DESCRIPTION

APPROVED BY REVISION

CORNDITIONER ASSY, CSW-ELV-A
5  OF  508/04/2017



 50.0 

 30.0  24.4 

 26.6 

 14.3 

 35° 

NOTES:
XXX.1.

REVISIONS

REV DC # APPROVED BY APPROVED ON

- - - -
- - - -
A - nvidojevic 08/11/2017

BILL OF MATERIALS
ITEM # QTY. P/N DESCRIPTION

1 1 20139 FRAME WELDMENT, OUTER WRAP, CSW-ELV
2 2 20153 WHEEL, ROUND, CSW-ELV
3 4 20155 PIN, CLEVIS W/ COTTER PIN, ZINC PLATED
4 2 20154 WHEEL, HEX, CSW-ELV
5 1 20575 INNER WRAP ASSY, CSW-ELV
6 28 7789 #8, INTERNAL TOOTH LOCKWASHER, STEEL NICKEL
7 30 7642 #8-32 X 3/8"LG FULLY THD, PHIL TRUSS HEAD MACHINE SCREW, 18-8 S.S.
8 1 20486 RECEPTACLE ENCLOSURE, CSW-ELV
9 1 5505 #8-32, SERRATED HEX FLANGE NUT, STEEL ZINC
10 1 5713 RECEPTACLE, 15AMP, 5 CONTACT
11 1 2165 BUSHING, HEYCO, #1247, 7/8"
12 1 1254 CORD, 15AMP, 14-3, NEMA 5-15P
13 1 20484 WALL ASSEMBLY, ELEVATOR FRONT, CSW-ELV
14 2 20149 ELEVATOR SLIDE, POPPER CASE, CSW-ELV
15 2 20147 SHAFT, POSITIONING, POPPER CASE, CSW-ELV
16 2 20148 PIN, POSITIONING SHAFT, CSW-ELV
17 2 20611 POPPER CASE ASSEMBLY, CSW-ELV
18 2 20151 DIVIDER, CSW-ELV
19 2 20366-L BRUSH HOLDER, LEFT, CSW-ELV
20 12 7891 #8-32 X 3/16"LG FULLY THD, SLOT PAN HEAD MACHINE SCREW W/NYLOCK 

PATCH, 18-8 S.S.
21 2 20366-R BRUSH HOLDER, RIGHT, CSW-ELV
22 4 20340 CAP, CSW-ELV BRUSH
23 8 7775 #6-32 X 3/16"LG, SLOT BINDER HEAD MACHINE SCREW, STEEL NICKEL
24 4 20502 BRUSH STRIP, CSW-ELV
25 1 20140 FRAME WELDMENT, TOP, CSW-ELV
26 2 20141 GLASS, SIDE, CSW-ELV
27 4 20406 CHANNEL, GLASS, 13.75"
28 2 20407 CHANNEL, GLASS, 12.5"
29 2 20343 CHANNEL, GLASS, 21.75" 
30 1 20476 RETAINER, SIDE GLASS, BOTTOM, LEFT
31 1 20439 RETAINER, SIDE GLASS, BOTTOM, RIGHT
32 2 20144 CLIP, SIDE GLASS, CSW-ELV
33 2 20438 BREATHER TUBE, CSW-ELV
34 2 16929 #10-32 X 1"LG FULLY THD, PHIL TRUSS HEAD MACHINE SCREW, 18-8 S.S.
35 1 15705 CHANNEL, FRONT GLASS BOTTOM, CSW-ELV
36 1 20143 GLASS, FRONT, CSW-ELV
37 1 20142 GLASS, TOP, CSW-ELV
38 2 20161 GLASS TAB
39 1 20550 LED STRIP, 26"LG, W/LEADS & POWER SUPPLY
40 1 20490 CONDUIT, CSW-ELV
41 1 2130 ROUTING CLAMP, PIPE, 3/8"
42 1 20602 COVER, LED TERMINALS, CSW-ELV
43 1 7865 #10-32, NM NYLON INSERT LOCKNUT, STEEL ZINC
44 1 20450 CORNDITIONER ASSY, CSW-ELV-A
45 2 20435 COVER, POPPER CASE, CSW-ELV
46 2 20150 DRAWER, CLEAN OUT, CSW-ELV
47 1 6018 DECAL-'CAUTN:CONS ALL SURFC HO
48 2 6012 DECAL, CAUTION, EMPTY DRAWER DAILY
49 1 2446 DECAL-CAUTION 120V/60HZ
50 1 1517 NAMEPLATE, SERIAL NO, BLANK
51 4 16066 #44, 1/8" RIVET, DOME HEAD, 0.188-0.250 GR, SS/SS
52 1 19489 POPCORN SCOOP, PLASTIC

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBS
REFER INDIVIDUAL SUB-PARTS

MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

1  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



A

5

1

BEFORE INSERTING THE INNER WRAP,
COMPLETE THE WIRING BEHIND THE

INNER WRAP BY THE POWER CORD LOCATION,
AS PER WIRING DIAGRAM AND EXTRACT THE
GROUP OF WIRES THROUGH THIS LOCATION.
LATER THESE WIRES WILL BE USED FOR WIRING
THE LED LIGHT UNDER THE TOP GLASS FRAME.

STEP # 1

7

6

4

3

3
4

2 3

2
3

DETAIL A
SCALE 1 : 1

7

6

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

2  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 2

C

C
12

11

WRAP AROUND AND
ADHERE DECAL TO THE
POWER CORD

49

B

DETAIL B
SCALE 1 : 2

8

6

7

6

7

10 SECTION C-C
SCALE 1 : 5

9

USED TO MOUNT
GROUND CABLE

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

3  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 3

15

16 15

13

14

6

7

7

6

14

18
18

POSITION THIS PART
IN PLACE BEFORE
LOWERING  THE
SHAFT THROUGH

CENTER FRAME AND
OUTER WRAP

AFTER INSERTING INTO
THE SHAFT INSERT THE 

BENT PORTION INTO THE
SLOT ON CENTER FRAME

SLOT WHERE THE
BENT PORTION

OF PIN IS INSERTED

SLOT WHERE THE
BENT PORTION
OF PIN IS INSERTED

17

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

4  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 4 STEP # 5

D

E

19

21

20

DETAIL D
SCALE 1 : 1

22

23

24

24

19

21

DETAIL E
SCALE 1 : 1

24

24

21

20

20

23
22

25
7

7

7

6

6

6

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

5  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 6

30

6

7

6

7

34

32

33

27

29

27

26

HIDDEN BEHIND
SHEET METAL FRAME

28
HIDDEN BEHIND 

THE TUBING

SLIDE THE PLASTIC
CHANNELS ON GLASS

BEFORE INSTALLING THE
GLASS IN PLACE

PUSH RETAINER AGAINST
THE GLASS BEFORE SECURING

THE MOUNTING SCREWS

HIDDEN BEHIND
THE RETAINER

34

32 26

33

7

6

7

6

31

PUSH RETAINER AGAINST
THE GLASS BEFORE SECURING

THE MOUNTING SCREWS

SLIDE THE PLASTIC
CHANNELS ON GLASS

BEFORE INSTALLING THE
GLASS IN PLACE

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

6  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 7 STEP # 8

3635

F

37

DETAIL F
SCALE 1 : 2

38

6

7

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

7  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 9 STEP # 10

G

DETAIL G
SCALE 1 : 1

39 42

43

41

40

47

45

50

51

44

7

7

46

46

48

48

52

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

8  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



BEGINNING SERIAL NO:17072871

FOR WIRING:
REFER TO CURRENT REVISION OF WIRING DIAGRAM: CSWELVA

REVISIONS
REV DC # APPROVED BY APPROVED ON

- - - -
- - - -
A - nvidojevic 08/04/2017

BILL OF MATERIALS
ITEM # QTY. P/N DESCRIPTION

1 1 20442 ENCLOSURE, CSW-ELV, CORNDITIONER
2 1 20601 DECAL, CORNDITIONER, CSW-ELV
3 2 5130 SWITCH, LIGHTED, 230V
4 1 14585-CG GUARD, CONTROL, HOT DOG GRILL
5 1 14585 TEMPERATURE  CONTROLLER, DIGITAL, 120V
6 1 5601 HIGH LIMIT, 200 DEG
7 2 7727 #8-32 X 3/8"LG FULLY THD, SLOT ROUND HEAD MACHINE SCREW, STEEL 

ZINC
8 2 7789 #8, INTERNAL TOOTH LOCKWASHER, STEEL NICKEL
9 1 1727-A HEAT ELEMENT, 1100W, 120V, 13.1 OHMS
10 1 7264 ELEMENT CLAMP, 1-5/8"
11 6 5505 #8-32, SERRATED HEX FLANGE NUT, STEEL ZINC
12 1 2123 BUSHING, HEYCO #2030, 1/4"
13 1 4709 SPACER, 0.21"ID X 0.3"OD X 5/8"LG, STEEL
14 1 7683 #10, SAE FLAT WASHER, 18-8 S.S.
15 1 16086 THERMOCOUPLE, RING TYPE, HOT DOG
16 1 5634 BLOWER, 115/230V, 50/60 Hz, 1/40 HP
17 8 5742 1/4", SAE FLAT WASHER, 18-8 S.S.
18 8 5743 1/4", MEDIUM SPLIT LOCKWASHER, 18-8 S.S.
19 8 10121 1/4-20 X 1/2"LG FULLY THD, HEX HEAD CAP SCREW, 18-8 S.S.
20 1 5712 PLUG, 15AMP, 5 CONTACT
21 2 7642 #8-32 X 3/8"LG FULLY THD, PHIL TRUSS HEAD MACHINE SCREW, 18-8 S.S.
22 2 14646 #8-32, KEPS NUT, STEEL NICKEL
23 1 20463 COVER, CSW-ELV CORNDITIONER

APPROVED DATE

DRAWN DATE APP. WEIGHT
12.51
 LBS

REFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE, IL 60191
Ph:(847)616-6900, (800)228-1885, Fax:(847)616-6970 

www.cretors.com, postmaster@cretors.com
DRAWN BY

A

ndarji

nvidojevic 08/04/2017

SHEET

20450
DRAWING NUMBER

DESCRIPTION

APPROVED BY REVISION

CORNDITIONER ASSY, CSW-ELV-A
1  OF  508/04/2017



STEP # 1 A

DETAIL A
SCALE 1 : 2

21

22

20

ENSURE ORIENTATION
PRIOR TO ASSEMBLY

STEP # 2
16

17

18

19

APPROVED DATE

DRAWN DATE APPROX. 
WEIGHT12.51

 LBS
REFER INDIVIDUAL SUB-PARTS

MATERIAL

176 MITTEL DRIVE, WOOD DALE, IL 60191
Ph:(847)616-6900, (800)228-1885, Fax:(847)616-6970 

www.cretors.com, postmaster@cretors.com
DRAWN BY

A

ndarji

nvidojevic 08/04/2017

SHEET

20450
DRAWING NUMBER

DESCRIPTION

APPROVED BY REVISION

CORNDITIONER ASSY, CSW-ELV-A
2  OF  508/04/2017



STEP # 3

9

10

11
14

15

11

12

INSTALL GROMMET
FROM INSIDE THE HEAT

ELEMENT CHAMBER.
INSERT THE

THERMOCOUPLE THRU
THE GROMMET AND
INSTALL TO THE TEMP.
CONTROLLER AS PER

WIRING DIAGRAM

SLIDE THE SPACER
OVER THE STUD FIRST

SLIDE THE #8 TERMINAL
END THRU THE STUD ON

THE SPACER NEXT

FASTEN
THERMOCOUPLE

USING THIS
SERRATED NUT

INSTALL WITH
ORIENTATION

AS SHOWN

ENSURE HEAT ELEMENT
REST ON THE NOTCH
ON SHEET METAL

APPROVED DATE

DRAWN DATE APPROX. 
WEIGHT12.51

 LBS
REFER INDIVIDUAL SUB-PARTS

MATERIAL

176 MITTEL DRIVE, WOOD DALE, IL 60191
Ph:(847)616-6900, (800)228-1885, Fax:(847)616-6970 

www.cretors.com, postmaster@cretors.com
DRAWN BY

A

ndarji

nvidojevic 08/04/2017

SHEET

20450
DRAWING NUMBER

DESCRIPTION

APPROVED BY REVISION

CORNDITIONER ASSY, CSW-ELV-A
3  OF  508/04/2017



STEP # 4

3

3

2

5

4

APPROVED DATE

DRAWN DATE APPROX. 
WEIGHT12.51

 LBS
REFER INDIVIDUAL SUB-PARTS

MATERIAL

176 MITTEL DRIVE, WOOD DALE, IL 60191
Ph:(847)616-6900, (800)228-1885, Fax:(847)616-6970 

www.cretors.com, postmaster@cretors.com
DRAWN BY

A

ndarji

nvidojevic 08/04/2017

SHEET

20450
DRAWING NUMBER

DESCRIPTION

APPROVED BY REVISION

CORNDITIONER ASSY, CSW-ELV-A
4  OF  508/04/2017



STEP # 5

B

THE BOTTOM COVER
TO GO UNDER THE FLANGE

BEFORE ASSEMBLING THE NUTS

DETAIL B
SCALE 1 : 2

23

11

ENSURE THE HEAT ELEMENT
IS ALIGNED WITH THE NOTCH
ON THE BOTTOM COVER

APPROVED DATE

DRAWN DATE APPROX. 
WEIGHT12.51

 LBS
REFER INDIVIDUAL SUB-PARTS

MATERIAL

176 MITTEL DRIVE, WOOD DALE, IL 60191
Ph:(847)616-6900, (800)228-1885, Fax:(847)616-6970 

www.cretors.com, postmaster@cretors.com
DRAWN BY

A

ndarji

nvidojevic 08/04/2017

SHEET

20450
DRAWING NUMBER

DESCRIPTION

APPROVED BY REVISION

CORNDITIONER ASSY, CSW-ELV-A
5  OF  508/04/2017



 50.0 

 30.0  24.4 

 26.6 

 14.3 

 35° 

NOTES:
XXX.1.

REVISIONS

REV DC # APPROVED BY APPROVED ON

- - - -
- - - -
A - nvidojevic 08/11/2017

BILL OF MATERIALS
ITEM # QTY. P/N DESCRIPTION

1 1 20139 FRAME WELDMENT, OUTER WRAP, CSW-ELV
2 2 20153 WHEEL, ROUND, CSW-ELV
3 4 20155 PIN, CLEVIS W/ COTTER PIN, ZINC PLATED
4 2 20154 WHEEL, HEX, CSW-ELV
5 1 20575 INNER WRAP ASSY, CSW-ELV
6 28 7789 #8, INTERNAL TOOTH LOCKWASHER, STEEL NICKEL
7 30 7642 #8-32 X 3/8"LG FULLY THD, PHIL TRUSS HEAD MACHINE SCREW, 18-8 S.S.
8 1 20486 RECEPTACLE ENCLOSURE, CSW-ELV
9 1 5505 #8-32, SERRATED HEX FLANGE NUT, STEEL ZINC
10 1 5713 RECEPTACLE, 15AMP, 5 CONTACT
11 1 2165 BUSHING, HEYCO, #1247, 7/8"
12 1 1254 CORD, 15AMP, 14-3, NEMA 5-15P
13 1 20484 WALL ASSEMBLY, ELEVATOR FRONT, CSW-ELV
14 2 20149 ELEVATOR SLIDE, POPPER CASE, CSW-ELV
15 2 20147 SHAFT, POSITIONING, POPPER CASE, CSW-ELV
16 2 20148 PIN, POSITIONING SHAFT, CSW-ELV
17 2 20611 POPPER CASE ASSEMBLY, CSW-ELV
18 2 20151 DIVIDER, CSW-ELV
19 2 20366-L BRUSH HOLDER, LEFT, CSW-ELV
20 12 7891 #8-32 X 3/16"LG FULLY THD, SLOT PAN HEAD MACHINE SCREW W/NYLOCK 

PATCH, 18-8 S.S.
21 2 20366-R BRUSH HOLDER, RIGHT, CSW-ELV
22 4 20340 CAP, CSW-ELV BRUSH
23 8 7775 #6-32 X 3/16"LG, SLOT BINDER HEAD MACHINE SCREW, STEEL NICKEL
24 4 20502 BRUSH STRIP, CSW-ELV
25 1 20140 FRAME WELDMENT, TOP, CSW-ELV
26 2 20141 GLASS, SIDE, CSW-ELV
27 4 20406 CHANNEL, GLASS, 13.75"
28 2 20407 CHANNEL, GLASS, 12.5"
29 2 20343 CHANNEL, GLASS, 21.75" 
30 1 20476 RETAINER, SIDE GLASS, BOTTOM, LEFT
31 1 20439 RETAINER, SIDE GLASS, BOTTOM, RIGHT
32 2 20144 CLIP, SIDE GLASS, CSW-ELV
33 2 20438 BREATHER TUBE, CSW-ELV
34 2 16929 #10-32 X 1"LG FULLY THD, PHIL TRUSS HEAD MACHINE SCREW, 18-8 S.S.
35 1 15705 CHANNEL, FRONT GLASS BOTTOM, CSW-ELV
36 1 20143 GLASS, FRONT, CSW-ELV
37 1 20142 GLASS, TOP, CSW-ELV
38 2 20161 GLASS TAB
39 1 20550 LED STRIP, 26"LG, W/LEADS & POWER SUPPLY
40 1 20490 CONDUIT, CSW-ELV
41 1 2130 ROUTING CLAMP, PIPE, 3/8"
42 1 20602 COVER, LED TERMINALS, CSW-ELV
43 1 7865 #10-32, NM NYLON INSERT LOCKNUT, STEEL ZINC
44 1 20450 CORNDITIONER ASSY, CSW-ELV-A
45 2 20435 COVER, POPPER CASE, CSW-ELV
46 2 20150 DRAWER, CLEAN OUT, CSW-ELV
47 1 6018 DECAL-'CAUTN:CONS ALL SURFC HO
48 2 6012 DECAL, CAUTION, EMPTY DRAWER DAILY
49 1 2446 DECAL-CAUTION 120V/60HZ
50 1 1517 NAMEPLATE, SERIAL NO, BLANK
51 4 16066 #44, 1/8" RIVET, DOME HEAD, 0.188-0.250 GR, SS/SS
52 1 19489 POPCORN SCOOP, PLASTIC

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBS
REFER INDIVIDUAL SUB-PARTS

MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

1  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



A

5

1

BEFORE INSERTING THE INNER WRAP,
COMPLETE THE WIRING BEHIND THE

INNER WRAP BY THE POWER CORD LOCATION,
AS PER WIRING DIAGRAM AND EXTRACT THE
GROUP OF WIRES THROUGH THIS LOCATION.
LATER THESE WIRES WILL BE USED FOR WIRING
THE LED LIGHT UNDER THE TOP GLASS FRAME.

STEP # 1

7

6

4

3

3
4

2 3

2
3

DETAIL A
SCALE 1 : 1

7

6

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

2  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 2

C

C
12

11

WRAP AROUND AND
ADHERE DECAL TO THE
POWER CORD

49

B

DETAIL B
SCALE 1 : 2

8

6

7

6

7

10 SECTION C-C
SCALE 1 : 5

9

USED TO MOUNT
GROUND CABLE

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

3  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 3

15

16 15

13

14

6

7

7

6

14

18
18

POSITION THIS PART
IN PLACE BEFORE
LOWERING  THE
SHAFT THROUGH

CENTER FRAME AND
OUTER WRAP

AFTER INSERTING INTO
THE SHAFT INSERT THE 

BENT PORTION INTO THE
SLOT ON CENTER FRAME

SLOT WHERE THE
BENT PORTION

OF PIN IS INSERTED

SLOT WHERE THE
BENT PORTION
OF PIN IS INSERTED

17

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

4  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 4 STEP # 5

D

E

19

21

20

DETAIL D
SCALE 1 : 1

22

23

24

24

19

21

DETAIL E
SCALE 1 : 1

24

24

21

20

20

23
22

25
7

7

7

6

6

6

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

5  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 6

30

6

7

6

7

34

32

33

27

29

27

26

HIDDEN BEHIND
SHEET METAL FRAME

28
HIDDEN BEHIND 

THE TUBING

SLIDE THE PLASTIC
CHANNELS ON GLASS

BEFORE INSTALLING THE
GLASS IN PLACE

PUSH RETAINER AGAINST
THE GLASS BEFORE SECURING

THE MOUNTING SCREWS

HIDDEN BEHIND
THE RETAINER

34

32 26

33

7

6

7

6

31

PUSH RETAINER AGAINST
THE GLASS BEFORE SECURING

THE MOUNTING SCREWS

SLIDE THE PLASTIC
CHANNELS ON GLASS

BEFORE INSTALLING THE
GLASS IN PLACE

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

6  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 7 STEP # 8

3635

F

37

DETAIL F
SCALE 1 : 2

38

6

7

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

7  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 9 STEP # 10

G

DETAIL G
SCALE 1 : 1

39 42

43

41

40

47

45

50

51

44

7

7

46

46

48

48

52

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

8  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



 50.0 

 30.0  24.4 

 26.6 

 14.3 

 35° 

NOTES:
XXX.1.

REVISIONS

REV DC # APPROVED BY APPROVED ON

- - - -
- - - -
A - nvidojevic 08/11/2017

BILL OF MATERIALS
ITEM # QTY. P/N DESCRIPTION

1 1 20139 FRAME WELDMENT, OUTER WRAP, CSW-ELV
2 2 20153 WHEEL, ROUND, CSW-ELV
3 4 20155 PIN, CLEVIS W/ COTTER PIN, ZINC PLATED
4 2 20154 WHEEL, HEX, CSW-ELV
5 1 20575 INNER WRAP ASSY, CSW-ELV
6 28 7789 #8, INTERNAL TOOTH LOCKWASHER, STEEL NICKEL
7 30 7642 #8-32 X 3/8"LG FULLY THD, PHIL TRUSS HEAD MACHINE SCREW, 18-8 S.S.
8 1 20486 RECEPTACLE ENCLOSURE, CSW-ELV
9 1 5505 #8-32, SERRATED HEX FLANGE NUT, STEEL ZINC
10 1 5713 RECEPTACLE, 15AMP, 5 CONTACT
11 1 2165 BUSHING, HEYCO, #1247, 7/8"
12 1 1254 CORD, 15AMP, 14-3, NEMA 5-15P
13 1 20484 WALL ASSEMBLY, ELEVATOR FRONT, CSW-ELV
14 2 20149 ELEVATOR SLIDE, POPPER CASE, CSW-ELV
15 2 20147 SHAFT, POSITIONING, POPPER CASE, CSW-ELV
16 2 20148 PIN, POSITIONING SHAFT, CSW-ELV
17 2 20611 POPPER CASE ASSEMBLY, CSW-ELV
18 2 20151 DIVIDER, CSW-ELV
19 2 20366-L BRUSH HOLDER, LEFT, CSW-ELV
20 12 7891 #8-32 X 3/16"LG FULLY THD, SLOT PAN HEAD MACHINE SCREW W/NYLOCK 

PATCH, 18-8 S.S.
21 2 20366-R BRUSH HOLDER, RIGHT, CSW-ELV
22 4 20340 CAP, CSW-ELV BRUSH
23 8 7775 #6-32 X 3/16"LG, SLOT BINDER HEAD MACHINE SCREW, STEEL NICKEL
24 4 20502 BRUSH STRIP, CSW-ELV
25 1 20140 FRAME WELDMENT, TOP, CSW-ELV
26 2 20141 GLASS, SIDE, CSW-ELV
27 4 20406 CHANNEL, GLASS, 13.75"
28 2 20407 CHANNEL, GLASS, 12.5"
29 2 20343 CHANNEL, GLASS, 21.75" 
30 1 20476 RETAINER, SIDE GLASS, BOTTOM, LEFT
31 1 20439 RETAINER, SIDE GLASS, BOTTOM, RIGHT
32 2 20144 CLIP, SIDE GLASS, CSW-ELV
33 2 20438 BREATHER TUBE, CSW-ELV
34 2 16929 #10-32 X 1"LG FULLY THD, PHIL TRUSS HEAD MACHINE SCREW, 18-8 S.S.
35 1 15705 CHANNEL, FRONT GLASS BOTTOM, CSW-ELV
36 1 20143 GLASS, FRONT, CSW-ELV
37 1 20142 GLASS, TOP, CSW-ELV
38 2 20161 GLASS TAB
39 1 20550 LED STRIP, 26"LG, W/LEADS & POWER SUPPLY
40 1 20490 CONDUIT, CSW-ELV
41 1 2130 ROUTING CLAMP, PIPE, 3/8"
42 1 20602 COVER, LED TERMINALS, CSW-ELV
43 1 7865 #10-32, NM NYLON INSERT LOCKNUT, STEEL ZINC
44 1 20450 CORNDITIONER ASSY, CSW-ELV-A
45 2 20435 COVER, POPPER CASE, CSW-ELV
46 2 20150 DRAWER, CLEAN OUT, CSW-ELV
47 1 6018 DECAL-'CAUTN:CONS ALL SURFC HO
48 2 6012 DECAL, CAUTION, EMPTY DRAWER DAILY
49 1 2446 DECAL-CAUTION 120V/60HZ
50 1 1517 NAMEPLATE, SERIAL NO, BLANK
51 4 16066 #44, 1/8" RIVET, DOME HEAD, 0.188-0.250 GR, SS/SS
52 1 19489 POPCORN SCOOP, PLASTIC

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBS
REFER INDIVIDUAL SUB-PARTS

MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

1  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



A

5

1

BEFORE INSERTING THE INNER WRAP,
COMPLETE THE WIRING BEHIND THE

INNER WRAP BY THE POWER CORD LOCATION,
AS PER WIRING DIAGRAM AND EXTRACT THE
GROUP OF WIRES THROUGH THIS LOCATION.
LATER THESE WIRES WILL BE USED FOR WIRING
THE LED LIGHT UNDER THE TOP GLASS FRAME.

STEP # 1

7

6

4

3

3
4

2 3

2
3

DETAIL A
SCALE 1 : 1

7

6

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

2  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 2

C

C
12

11

WRAP AROUND AND
ADHERE DECAL TO THE
POWER CORD

49

B

DETAIL B
SCALE 1 : 2

8

6

7

6

7

10 SECTION C-C
SCALE 1 : 5

9

USED TO MOUNT
GROUND CABLE

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

3  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 3

15

16 15

13

14

6

7

7

6

14

18
18

POSITION THIS PART
IN PLACE BEFORE
LOWERING  THE
SHAFT THROUGH

CENTER FRAME AND
OUTER WRAP

AFTER INSERTING INTO
THE SHAFT INSERT THE 

BENT PORTION INTO THE
SLOT ON CENTER FRAME

SLOT WHERE THE
BENT PORTION

OF PIN IS INSERTED

SLOT WHERE THE
BENT PORTION
OF PIN IS INSERTED

17

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

4  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 4 STEP # 5

D

E

19

21

20

DETAIL D
SCALE 1 : 1

22

23

24

24

19

21

DETAIL E
SCALE 1 : 1

24

24

21

20

20

23
22

25
7

7

7

6

6

6

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

5  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 6

30

6

7

6

7

34

32

33

27

29

27

26

HIDDEN BEHIND
SHEET METAL FRAME

28
HIDDEN BEHIND 

THE TUBING

SLIDE THE PLASTIC
CHANNELS ON GLASS

BEFORE INSTALLING THE
GLASS IN PLACE

PUSH RETAINER AGAINST
THE GLASS BEFORE SECURING

THE MOUNTING SCREWS

HIDDEN BEHIND
THE RETAINER

34

32 26

33

7

6

7

6

31

PUSH RETAINER AGAINST
THE GLASS BEFORE SECURING

THE MOUNTING SCREWS

SLIDE THE PLASTIC
CHANNELS ON GLASS

BEFORE INSTALLING THE
GLASS IN PLACE

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

6  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 7 STEP # 8

3635

F

37

DETAIL F
SCALE 1 : 2

38

6

7

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

7  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



STEP # 9 STEP # 10

G

DETAIL G
SCALE 1 : 1

39 42

43

41

40

47

45

50

51

44

7

7

46

46

48

48

52

APPROVED DATE

DRAWN DATE

C SIZE DRAWING
STANDARD NOTES:

REMOVE SHARP EDGES AND BURRS.1.
UNLESS SPECIFIED ALL DIMENSIONS ARE IN INCHES.2.
REFERENCE DIMENSIONS ARE INDICATED IN PARENTHESIS.3.
CRITICAL DIMENSIONS THAT NEED INSPECTION ARE INDICATED IN OBROUND BOX.4.
T.S.C. STAND FOR THEORITICAL SHARP CORNER & INS STAND FOR INSIDE.5.
FOR SHEET METAL, UNLESS SPECIFIED ALL DIMENSIONS ARE OUTSIDE.6.
FOR SHEET METAL, FLAT PATTERNS ARE FOR REFERENCE ONLY.7.

APPROX.
WEIGHT
189.11

 LBSREFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE,  IL 60191
www.cretors.com | www.flo-thru.com

DRAWN BY

A
ndarji

nvidojevic 08/11/2017
SHEET

CSW-ELV-A
DRAWING NUMBER

DESCRIPTION

APPROVED BY

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO C. CRETORS & CO. AND IS FURNISHED IN CONFIDENCE FOR 
SOLE PURPOSE OF SUPPLYING THE RECIPIENT WITH NEEDED ENGINEERING DATA. THE CONTENTS SHOULD NOT BE 
DISCLOSED OR REPRODUCED IN ANY MANNER WITHOUT WRITTEN CONSENT OF C. CRETORS & CO. ALL RIGHTS RESERVED.

REVISION

COUNTER SHOWCASE WARMER, 
ELEVATOR

8  OF  8

TOLERANCES

08/11/2017

 0.02
 0.01
 1

+0.005 / -0
125Ra

x.xx =
x.xxx =

ANGLES =
HOLES =
FINISH =

THIRD ANGLE
PROJECTION

A A

B B

C C

D D

E E

F F

G G

H H

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



BEGINNING SERIAL NO:17072871

FOR WIRING:
REFER TO CURRENT REVISION OF WIRING DIAGRAM: CSWELVA

REVISIONS
REV DC # APPROVED BY APPROVED ON

- - - -
- - - -
A - nvidojevic 08/04/2017

BILL OF MATERIALS
ITEM # QTY. P/N DESCRIPTION

1 1 20442 ENCLOSURE, CSW-ELV, CORNDITIONER
2 1 20601 DECAL, CORNDITIONER, CSW-ELV
3 2 5130 SWITCH, LIGHTED, 230V
4 1 14585-CG GUARD, CONTROL, HOT DOG GRILL
5 1 14585 TEMPERATURE  CONTROLLER, DIGITAL, 120V
6 1 5601 HIGH LIMIT, 200 DEG
7 2 7727 #8-32 X 3/8"LG FULLY THD, SLOT ROUND HEAD MACHINE SCREW, STEEL 

ZINC
8 2 7789 #8, INTERNAL TOOTH LOCKWASHER, STEEL NICKEL
9 1 1727-A HEAT ELEMENT, 1100W, 120V, 13.1 OHMS
10 1 7264 ELEMENT CLAMP, 1-5/8"
11 6 5505 #8-32, SERRATED HEX FLANGE NUT, STEEL ZINC
12 1 2123 BUSHING, HEYCO #2030, 1/4"
13 1 4709 SPACER, 0.21"ID X 0.3"OD X 5/8"LG, STEEL
14 1 7683 #10, SAE FLAT WASHER, 18-8 S.S.
15 1 16086 THERMOCOUPLE, RING TYPE, HOT DOG
16 1 5634 BLOWER, 115/230V, 50/60 Hz, 1/40 HP
17 8 5742 1/4", SAE FLAT WASHER, 18-8 S.S.
18 8 5743 1/4", MEDIUM SPLIT LOCKWASHER, 18-8 S.S.
19 8 10121 1/4-20 X 1/2"LG FULLY THD, HEX HEAD CAP SCREW, 18-8 S.S.
20 1 5712 PLUG, 15AMP, 5 CONTACT
21 2 7642 #8-32 X 3/8"LG FULLY THD, PHIL TRUSS HEAD MACHINE SCREW, 18-8 S.S.
22 2 14646 #8-32, KEPS NUT, STEEL NICKEL
23 1 20463 COVER, CSW-ELV CORNDITIONER

APPROVED DATE

DRAWN DATE APP. WEIGHT
12.51
 LBS

REFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE, IL 60191
Ph:(847)616-6900, (800)228-1885, Fax:(847)616-6970 

www.cretors.com, postmaster@cretors.com
DRAWN BY

A

ndarji

nvidojevic 08/04/2017

SHEET

20450
DRAWING NUMBER

DESCRIPTION

APPROVED BY REVISION

CORNDITIONER ASSY, CSW-ELV-A
1  OF  508/04/2017



STEP # 1 A

DETAIL A
SCALE 1 : 2

21

22

20

ENSURE ORIENTATION
PRIOR TO ASSEMBLY

STEP # 2
16

17

18

19

APPROVED DATE

DRAWN DATE APPROX. 
WEIGHT12.51

 LBS
REFER INDIVIDUAL SUB-PARTS

MATERIAL

176 MITTEL DRIVE, WOOD DALE, IL 60191
Ph:(847)616-6900, (800)228-1885, Fax:(847)616-6970 

www.cretors.com, postmaster@cretors.com
DRAWN BY

A

ndarji

nvidojevic 08/04/2017

SHEET

20450
DRAWING NUMBER

DESCRIPTION

APPROVED BY REVISION

CORNDITIONER ASSY, CSW-ELV-A
2  OF  508/04/2017



STEP # 3

9

10

11
14

15

11

12

INSTALL GROMMET
FROM INSIDE THE HEAT

ELEMENT CHAMBER.
INSERT THE

THERMOCOUPLE THRU
THE GROMMET AND
INSTALL TO THE TEMP.
CONTROLLER AS PER

WIRING DIAGRAM

SLIDE THE SPACER
OVER THE STUD FIRST

SLIDE THE #8 TERMINAL
END THRU THE STUD ON

THE SPACER NEXT

FASTEN
THERMOCOUPLE

USING THIS
SERRATED NUT

INSTALL WITH
ORIENTATION

AS SHOWN

ENSURE HEAT ELEMENT
REST ON THE NOTCH
ON SHEET METAL

APPROVED DATE

DRAWN DATE APPROX. 
WEIGHT12.51

 LBS
REFER INDIVIDUAL SUB-PARTS

MATERIAL

176 MITTEL DRIVE, WOOD DALE, IL 60191
Ph:(847)616-6900, (800)228-1885, Fax:(847)616-6970 

www.cretors.com, postmaster@cretors.com
DRAWN BY

A

ndarji

nvidojevic 08/04/2017

SHEET

20450
DRAWING NUMBER

DESCRIPTION

APPROVED BY REVISION

CORNDITIONER ASSY, CSW-ELV-A
3  OF  508/04/2017



STEP # 4

3

3

2

5

4

APPROVED DATE

DRAWN DATE APPROX. 
WEIGHT12.51

 LBS
REFER INDIVIDUAL SUB-PARTS

MATERIAL

176 MITTEL DRIVE, WOOD DALE, IL 60191
Ph:(847)616-6900, (800)228-1885, Fax:(847)616-6970 

www.cretors.com, postmaster@cretors.com
DRAWN BY

A

ndarji

nvidojevic 08/04/2017

SHEET

20450
DRAWING NUMBER

DESCRIPTION

APPROVED BY REVISION

CORNDITIONER ASSY, CSW-ELV-A
4  OF  508/04/2017



STEP # 5

B

THE BOTTOM COVER
TO GO UNDER THE FLANGE

BEFORE ASSEMBLING THE NUTS

DETAIL B
SCALE 1 : 2

23

11

ENSURE THE HEAT ELEMENT
IS ALIGNED WITH THE NOTCH
ON THE BOTTOM COVER

APPROVED DATE

DRAWN DATE APPROX. 
WEIGHT12.51

 LBS
REFER INDIVIDUAL SUB-PARTS

MATERIAL

176 MITTEL DRIVE, WOOD DALE, IL 60191
Ph:(847)616-6900, (800)228-1885, Fax:(847)616-6970 

www.cretors.com, postmaster@cretors.com
DRAWN BY

A

ndarji

nvidojevic 08/04/2017

SHEET

20450
DRAWING NUMBER

DESCRIPTION

APPROVED BY REVISION

CORNDITIONER ASSY, CSW-ELV-A
5  OF  508/04/2017



BEGINNING SERIAL NO:17072871

FOR WIRING:
REFER TO CURRENT REVISION OF WIRING DIAGRAM: CSWELVA

REVISIONS
REV DC # APPROVED BY APPROVED ON

- - - -
- - - -
A - nvidojevic 08/04/2017

BILL OF MATERIALS
ITEM # QTY. P/N DESCRIPTION

1 1 20442 ENCLOSURE, CSW-ELV, CORNDITIONER
2 1 20601 DECAL, CORNDITIONER, CSW-ELV
3 2 5130 SWITCH, LIGHTED, 230V
4 1 14585-CG GUARD, CONTROL, HOT DOG GRILL
5 1 14585 TEMPERATURE  CONTROLLER, DIGITAL, 120V
6 1 5601 HIGH LIMIT, 200 DEG
7 2 7727 #8-32 X 3/8"LG FULLY THD, SLOT ROUND HEAD MACHINE SCREW, STEEL 

ZINC
8 2 7789 #8, INTERNAL TOOTH LOCKWASHER, STEEL NICKEL
9 1 1727-A HEAT ELEMENT, 1100W, 120V, 13.1 OHMS
10 1 7264 ELEMENT CLAMP, 1-5/8"
11 6 5505 #8-32, SERRATED HEX FLANGE NUT, STEEL ZINC
12 1 2123 BUSHING, HEYCO #2030, 1/4"
13 1 4709 SPACER, 0.21"ID X 0.3"OD X 5/8"LG, STEEL
14 1 7683 #10, SAE FLAT WASHER, 18-8 S.S.
15 1 16086 THERMOCOUPLE, RING TYPE, HOT DOG
16 1 5634 BLOWER, 115/230V, 50/60 Hz, 1/40 HP
17 8 5742 1/4", SAE FLAT WASHER, 18-8 S.S.
18 8 5743 1/4", MEDIUM SPLIT LOCKWASHER, 18-8 S.S.
19 8 10121 1/4-20 X 1/2"LG FULLY THD, HEX HEAD CAP SCREW, 18-8 S.S.
20 1 5712 PLUG, 15AMP, 5 CONTACT
21 2 7642 #8-32 X 3/8"LG FULLY THD, PHIL TRUSS HEAD MACHINE SCREW, 18-8 S.S.
22 2 14646 #8-32, KEPS NUT, STEEL NICKEL
23 1 20463 COVER, CSW-ELV CORNDITIONER

APPROVED DATE

DRAWN DATE APP. WEIGHT
12.51
 LBS

REFER INDIVIDUAL SUB-PARTS
MATERIAL

176 MITTEL DRIVE, WOOD DALE, IL 60191
Ph:(847)616-6900, (800)228-1885, Fax:(847)616-6970 

www.cretors.com, postmaster@cretors.com
DRAWN BY

A

ndarji

nvidojevic 08/04/2017

SHEET

20450
DRAWING NUMBER

DESCRIPTION

APPROVED BY REVISION

CORNDITIONER ASSY, CSW-ELV-A
1  OF  508/04/2017



STEP # 1 A

DETAIL A
SCALE 1 : 2

21

22

20

ENSURE ORIENTATION
PRIOR TO ASSEMBLY

STEP # 2
16

17

18

19

APPROVED DATE

DRAWN DATE APPROX. 
WEIGHT12.51

 LBS
REFER INDIVIDUAL SUB-PARTS

MATERIAL

176 MITTEL DRIVE, WOOD DALE, IL 60191
Ph:(847)616-6900, (800)228-1885, Fax:(847)616-6970 

www.cretors.com, postmaster@cretors.com
DRAWN BY

A

ndarji

nvidojevic 08/04/2017

SHEET

20450
DRAWING NUMBER

DESCRIPTION

APPROVED BY REVISION

CORNDITIONER ASSY, CSW-ELV-A
2  OF  508/04/2017



STEP # 3

9

10

11
14

15

11

12

INSTALL GROMMET
FROM INSIDE THE HEAT

ELEMENT CHAMBER.
INSERT THE

THERMOCOUPLE THRU
THE GROMMET AND
INSTALL TO THE TEMP.
CONTROLLER AS PER

WIRING DIAGRAM

SLIDE THE SPACER
OVER THE STUD FIRST

SLIDE THE #8 TERMINAL
END THRU THE STUD ON

THE SPACER NEXT

FASTEN
THERMOCOUPLE

USING THIS
SERRATED NUT

INSTALL WITH
ORIENTATION

AS SHOWN

ENSURE HEAT ELEMENT
REST ON THE NOTCH
ON SHEET METAL

APPROVED DATE

DRAWN DATE APPROX. 
WEIGHT12.51

 LBS
REFER INDIVIDUAL SUB-PARTS

MATERIAL

176 MITTEL DRIVE, WOOD DALE, IL 60191
Ph:(847)616-6900, (800)228-1885, Fax:(847)616-6970 

www.cretors.com, postmaster@cretors.com
DRAWN BY

A

ndarji

nvidojevic 08/04/2017

SHEET

20450
DRAWING NUMBER

DESCRIPTION

APPROVED BY REVISION

CORNDITIONER ASSY, CSW-ELV-A
3  OF  508/04/2017



STEP # 4

3

3

2

5

4

APPROVED DATE

DRAWN DATE APPROX. 
WEIGHT12.51

 LBS
REFER INDIVIDUAL SUB-PARTS

MATERIAL

176 MITTEL DRIVE, WOOD DALE, IL 60191
Ph:(847)616-6900, (800)228-1885, Fax:(847)616-6970 

www.cretors.com, postmaster@cretors.com
DRAWN BY

A

ndarji

nvidojevic 08/04/2017

SHEET

20450
DRAWING NUMBER

DESCRIPTION

APPROVED BY REVISION

CORNDITIONER ASSY, CSW-ELV-A
4  OF  508/04/2017



STEP # 5

B

THE BOTTOM COVER
TO GO UNDER THE FLANGE

BEFORE ASSEMBLING THE NUTS

DETAIL B
SCALE 1 : 2

23

11

ENSURE THE HEAT ELEMENT
IS ALIGNED WITH THE NOTCH
ON THE BOTTOM COVER

APPROVED DATE

DRAWN DATE APPROX. 
WEIGHT12.51

 LBS
REFER INDIVIDUAL SUB-PARTS

MATERIAL

176 MITTEL DRIVE, WOOD DALE, IL 60191
Ph:(847)616-6900, (800)228-1885, Fax:(847)616-6970 

www.cretors.com, postmaster@cretors.com
DRAWN BY

A

ndarji

nvidojevic 08/04/2017

SHEET

20450
DRAWING NUMBER

DESCRIPTION

APPROVED BY REVISION

CORNDITIONER ASSY, CSW-ELV-A
5  OF  508/04/2017


	CSW-ELV Part Diagrams
	Counter Showcase Warmer Parts Diagrams
	CSW-ELV-A
	Sheet1
	Drawing View1
	Drawing View24
	Drawing View25
	Drawing View26

	Sheet2
	Drawing View2
	Drawing View3
	Drawing View4
	Detail View A (1 : 1)

	Sheet3
	Drawing View6
	Drawing View7
	Detail View B (1 : 2)
	Section View C-C

	Sheet4
	Drawing View10
	Drawing View11

	Sheet5
	Drawing View12
	Detail View D (1 : 1)
	Detail View E (1 : 1)
	Drawing View15

	Sheet6
	Drawing View16
	Drawing View17

	Sheet7
	Drawing View18
	Drawing View19
	Detail View F (1 : 2)

	Sheet8
	Drawing View21
	Detail View G (1 : 1)
	Drawing View23


	20450
	Sheet1
	Drawing View1

	Sheet2
	Drawing View2
	Detail View A (1 : 2)
	Drawing View4

	Sheet3
	Drawing View6

	Sheet4
	Drawing View7

	Sheet5
	Drawing View8
	Detail View B (1 : 2)



	CSW-ELV-A
	Sheet1
	Drawing View1
	Drawing View24
	Drawing View25
	Drawing View26

	Sheet2
	Drawing View2
	Drawing View3
	Drawing View4
	Detail View A (1 : 1)

	Sheet3
	Drawing View6
	Drawing View7
	Detail View B (1 : 2)
	Section View C-C

	Sheet4
	Drawing View10
	Drawing View11

	Sheet5
	Drawing View12
	Detail View D (1 : 1)
	Detail View E (1 : 1)
	Drawing View15

	Sheet6
	Drawing View16
	Drawing View17

	Sheet7
	Drawing View18
	Drawing View19
	Detail View F (1 : 2)

	Sheet8
	Drawing View21
	Detail View G (1 : 1)
	Drawing View23


	20450
	Sheet1
	Drawing View1

	Sheet2
	Drawing View2
	Detail View A (1 : 2)
	Drawing View4

	Sheet3
	Drawing View6

	Sheet4
	Drawing View7

	Sheet5
	Drawing View8
	Detail View B (1 : 2)



	CSW-ELV-A
	Sheet1
	Drawing View1
	Drawing View24
	Drawing View25
	Drawing View26

	Sheet2
	Drawing View2
	Drawing View3
	Drawing View4
	Detail View A (1 : 1)

	Sheet3
	Drawing View6
	Drawing View7
	Detail View B (1 : 2)
	Section View C-C

	Sheet4
	Drawing View10
	Drawing View11

	Sheet5
	Drawing View12
	Detail View D (1 : 1)
	Detail View E (1 : 1)
	Drawing View15

	Sheet6
	Drawing View16
	Drawing View17

	Sheet7
	Drawing View18
	Drawing View19
	Detail View F (1 : 2)

	Sheet8
	Drawing View21
	Detail View G (1 : 1)
	Drawing View23


	Counter Showcase Warmer Parts Diagrams
	CSW-ELV-A
	Sheet1
	Drawing View1
	Drawing View24
	Drawing View25
	Drawing View26

	Sheet2
	Drawing View2
	Drawing View3
	Drawing View4
	Detail View A (1 : 1)

	Sheet3
	Drawing View6
	Drawing View7
	Detail View B (1 : 2)
	Section View C-C

	Sheet4
	Drawing View10
	Drawing View11

	Sheet5
	Drawing View12
	Detail View D (1 : 1)
	Detail View E (1 : 1)
	Drawing View15

	Sheet6
	Drawing View16
	Drawing View17

	Sheet7
	Drawing View18
	Drawing View19
	Detail View F (1 : 2)

	Sheet8
	Drawing View21
	Detail View G (1 : 1)
	Drawing View23


	20450
	Sheet1
	Drawing View1

	Sheet2
	Drawing View2
	Detail View A (1 : 2)
	Drawing View4

	Sheet3
	Drawing View6

	Sheet4
	Drawing View7

	Sheet5
	Drawing View8
	Detail View B (1 : 2)



	20450
	Sheet1
	Drawing View1

	Sheet2
	Drawing View2
	Detail View A (1 : 2)
	Drawing View4

	Sheet3
	Drawing View6

	Sheet4
	Drawing View7

	Sheet5
	Drawing View8
	Detail View B (1 : 2)



